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Introduction
RRM requirements for multiple SCell activation were discussed in RAN4#98-bis-e, and the outcomes are captured in the summary [1]. Based on [1] the following issues are to be further discussed:
· Condition of SMTC configuration to apply multiple SCell activation requirement 
In this paper we will provide our views on the above open issue for multiple SCell activation.
Discussion
The issue has been discussed for several RAN4 meetings.
The assumption behind the current requirements for multiple SCell activation is that UE performs RF re-tuning for all SCells activated by the same MAC CE at the same time. The assumption is also a prerequisite to define deterministic activation delay because otherwise the RF re-tuning of one SCell could interrupt the SSB reception of another SCell and cause extension of the activation process of the latter SCell. Based on RAN4 earlier discussion, the exact extension cannot be really defined making it impossible to define deterministic activation delay requirement.
However, this assumption may conflict with interruption requirements in some cases. For example, in Figure 1 below two SCells are activated with a single MAC CE, and the SSB offsets for them are misaligned. The RF re-tuning for the two SCells needs to be done before the first SSB of SCell1, as otherwise UE cannot meet the activation delay requirement for SCell1. This means the RF is also re-tuned for SCell2, and if there exists an active serving cell in the same band as SCell2, that serving cell would be interrupted during the time period of T-delta, due to improper gain setting and no opportunity for AGC. 
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Figure 1: Interruption due to multiple SCell activation
Our proposal was to define applicability condition for the multiple SCell activation requirements that the requirements apply provided that all SCells activated by the same MAC CE have same SMTC offset.
However, during RAN4#98-bis-e, some companies suggested that we should not limit the applicability of the requirements due to some specific cases. In addition, it was commented that for FR2 SCell, there is no need for AGC, so such interruption issue does not exist. 
Based on the comments, we think maybe instead of defining the restrictions on the conditions where the requirements can apply, RAN4 can clarify that more interruptions are allowed without specifying the exact interruption requirements for the problematic scenarios. 
In particular, the issue is that when the SCells to-be activated are in different bands and with misaligned SMTC offsets, for activated FR1 serving cells in the same band as an unknown to-be-activated SCell, there could be more interruptions due to unsettled AGC setting. Therefore, we suggest that
Proposal 1: If SMTC offset is different among 
· SCells in different bands activated by the same MAC CE if UE does not support per FR gap, or
· SCells in different FR1 bands activated by the same MAC CE if UE supports per FR gap,
for activated FR1 serving cells in the same band as an unknown to-be-activated SCell, there may be more interruption than allowed in clause 8.2 due to multiple SCell activation.
Conclusions
In this paper we provided our views on multiple SCell activation.
Proposal 1: If SMTC offset is different among 
· SCells in different bands activated by the same MAC CE if UE does not support per FR gap, or
· SCells in different FR1 bands activated by the same MAC CE if UE supports per FR gap,
for activated FR1 serving cells in the same band as an unknown to-be-activated SCell, there may be more interruption than allowed in clause 8.2 due to multiple SCell activation.
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i«———— RFretuning needs to be done before this point to meet the delay requirement

An active serving cell in the same band as SCell2 may be interrupted during this time period




